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= 01_100_1b: ROI of Stddev (after correction). Green line is the 101—pts medi
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=" 04_217_1: ROI of Stddev (after correction). Green line is the 101—pts medie
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= 12_217_5b: ROI of Stddev (after correction). Green line is the 101—pts medi
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g‘ 13_363_2: ROI of Stddev (after correction). Green line is the 101
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= 20_100_2a: ROI of Stddev (after correction). Green line is the 101—pts medi
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g‘ 22_217_2: ROI of Stddev (after correction). Green line is the 101—pts medie
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g‘ 24_353_3b: ROI of Stddev (after correction). Green line is the 101—pts medi
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= 31_143_2b: ROI of Stddev (after correction). Green line is the 101—pts medi
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"= 32_353_4a: ROI of Stddev (after correction). Green line is the 101—pts medi
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‘= 34_545_2: ROI of Stddev (after correction). Green line is the 101—pts medie
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= 40_100_3a: ROI of Stddev (after correctlon) Green llne 1s the 101 pts medi
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= 41_100_3b: ROI of Stddev (after correction). Green line is the 101—pts medi
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= 42_143_6: ROI of Stddev (after correction). Green line is the 101—pts medie
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= 43_217_6a: ROI of Stddev (after correction). Green line is the 101—pts medi
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" 44_217_6b: ROI of Stddev (after correction). Green line is the 101—pts medi
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= 50_143_3a: ROI of Stddev (after correction). Green line is the 101—pts medi
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= 51_143_3b: ROI of Stddev (after correction). Green line is the 101—pts medi
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g‘ 53_3b63_Ha: ROI of Stddev (after correction). Green line is the 101—pts medi
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g‘ 54_353_5b: ROI of Stddev (after correction). Green 11ne 1S the 101 pts medi
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g‘ 61_217_7a: ROI of Stddev (after correction). Green line is the 101—pts medi
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" 62_217_7b: ROI of Stddev (after correction). Green line is the 101—pts medi
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= 73_545_4: ROI of Stddev (after correction). Green line is the 101—pts mediec
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g‘ B81_100_4b: ROI of Stddev (after correction). Green line is the 101—pts medi
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=B 143_461 ROI of Stddev (after correctlon) Green llne 1s the 101 pts medi
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=" 84_217_4: ROI of Stddev (after correction). Green line is the 101—pts medie
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=" 85_353_8: ROI of Stddev (after correction). Green line is the 101—pts medie
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